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%%  fackverk i veckoPM4 
clear all 
 
u=1/sqrt(2);
F=8;
 
A=zeros(6,6);              % börja med nollmatris
A(:,1)=[u u -u -u 0 0]';   % fyll i element
A(:,3)=[0 0 u -u -u u]';
A(1,2)=1; A(5,2)=-1;
A(1,4)=-1; A(2,5)=-1; A(6,6)=-1;
 
b=zeros(6,1); b(4,1)=F;
 
Abreducerad=rref([A b])
x=inv(A)*b
xx=A\b
xx2=xx(2)
 
%% glest format 
R = [1 1  1 2  2  3 3  4  4  5  5 6  6];    % radpekare
K = [1 2  4 1  5  1 3  1  3  2  3 3  6];    % kolonnpekare
E = [u 1 -1 u -1 -u u -u -u -1 -u u -1];    % nollskilda element
 
AA = sparse(R,K,E,6,6)             % 6x6 gles matris
bb = sparse([4],[1],[8],6,1)       % 6x1 gles matris
 
%% inspektera matrisen i fullt format
spy(AA)
AAfull = full(AA)
 
%%  lös ekv i glest format 
xxx = AA\bb
xxxfull = full(xxx)
AAbbreducerad = rref([AA bb])
AAbbreduceradfull = full(AAbbreducerad)
 
 
 
 
 


	Job_20190212184049.pdf
	F10fackverk

